Scandia | innovation
PUMPS | belonar

EBARA EVMSGI1 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMSG1
0 U.S.g.p.m. 2 3 4 5 6 7 8 10 11 12 13
| ! ! ! ! | ! ! ! ! ! | !
[ I I I [ I I I I [ 1
0 Imp.g.p. m 2 3 4 5 6 7 8 9 10 1"
250
— 800
P H ‘
[MPa] m | 73922 e H
— ft
37/ 2 W \'\ L 700 "
207 =gy ‘ \'\\\\
15
|kW Al \ \
132/ 5Kk \\\\ 600
=29/1. 5|kW\ £ S~ ~~ N \
J27/150v—L = \\
15 450 |2 T26/1. 1|kW il W \\\\ AN 500
m 24w — | \'\§\\ \ \
— | B \ \
22/ 1 jw— L _| —— \
L | I e~ \\ - 400
—20Maw— | T — \\
04 11IkW‘\‘\+ ~ \\k
I~ —16/0.75w— L | N\\\ \\ — 300
- =14/ T \\\
075kW—— | o | T
I~ —13/055kw— 1 — | e —— \\\
= —12/055 kW — — |t ——— ] \\
-t = e T 0
~—10/0.55 kWw— +— [ ———
05— 50— *250.55 ow— L __L ‘\>\§§
— —8/0.37 kw— — ——
——=7/037kWw——— ‘\t§§
— —6/0.37 kW— — — T
——5/0.37 kw—— =~ —= __Q§ — 100
= —4/0.37 kw— — —— —}= [
——3/0.37 kWw— — — —}=— S —
= —2/0.37 kW= —— — — e
o< o : 0
0 5 10 15 20 25 30 35 40 45 Q [/min]
[ I I I I I I I I I I I I I I [
0 0.2 0.4 06 0.8 1.0 12 14 1.6 18 2.0 22 24 2.6 28  Q[mih]
012 60
P2 n
[kw] 008 /,/ n% 40 %
0.04 | 20
SINGLE IMPELLER kW
000 | | | 0
0 5 10 15 20 25 30 35 40 45 Q [/min]
NPSH © NPSH
-0
" 3 T 10 '
0 0
0 5 10 15 20 25 30 35 40 45 Q [/min]

Rotation speed =2900 min-'
Test standard: 1ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMSGI1 TRYCKSTEGRINGSPUMP

TECHNICAL DATA
EVMSG1

Dimensional sketch

Oval flange (N) DIN Round flange (F) - DN25
c [9
e e
o 2
& @
¢ ks
|
A | cas Mﬁ | e
£ 2 holes M10 g 4 oles 014
- . i G3B - A At e ‘[;fi&;}\l{ 638
A Uemlies g J  [HIPEH] B A,
‘,%.‘ M L % & 100 18 4 holes 12 m 085 S
160 ‘ 20 149 ‘ 180
250 210
Dimensions [mm] and Weights [Kg]
Motor Oval flange (N) Round flange (F)
Weight Weight
1~ 3~ Weight Pump + Weight Pump +
Pmax kW  Size A H2 | Pump Motor H2 | Pump Motor
Pump Type [MPa] B C H3 B C H3 1~ 3~ 1~ 3~
EVMSG1 2/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 250 14 | 211 19.8 | 275 | 174 | 245 232
EVMSG1 3/0.37 1.6 0.37 7 2105 | 139 133 216 | 139 114 216 | 271 14.5 216 203 | 296 17.9 25 237
EVMSG1 4/0.37 1.6 0.37 7 2105 | 139 133 216 | 139 114 216 | 292 14.9 22 207 | 317 18.3 254 241
EVMSG1 5/0.37 16 |037 71 2105 | 139 133 216 | 139 114 216 | 313 | 154 | 225 212 | 338 | 188 | 259 246
EVMSG1 6/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 334 15.8 229 216 | 359 19.2 263 25
EVMSG1 7/0.37 1.6 0.37 71 2105 | 139 133 216 | 139 114 216 | 355 16.2 233 22 380 19.6 267 254
EVMSG1 8/0.37 16 037 71 2105 | 139 133 216 | 139 114 216 | 376 | 167 | 238 225 | 401 | 20.1 | 272 259
EVMSG1 9/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 114 216 | 397 171 256 233 | 422 20.5 29 267
EVMSG1 10/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 114 216 | 418 17.5 26 237 | 443 20.9 294 271
EVMSG1 11/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 439 18 | 265 242 | 464 | 214 | 299 276
EVMSG1 12/0.55 16 |055 71 2105 | 139 133 216 | 139 114 216 | 460 | 187 |27.2 249 | 485 | 221 | 306 283
EVMSG1 13/0.55 1.6 0.55 71 2105 | 139 133 216 | 139 114 216 | 481 19.3 27.8 255 | 506 227 312 289
EVMSG1 14/0.75 16 075 80 2120 | 160 151 232 | 141 102 233 | 512 20 [314 285|537 | 234 | 348 319
EVMSG1 16/0.75 16 |0.75 80 2120 | 160 151 232 | 141 102 233 | 554 21 324 295 | 579 | 244 | 358 329
EVMSG1 18/1.1 1.6 11 80 2120 | 160 151 232 | 141 102 244 | 596 221 339 321 | 621 255 373 355
EVMSG1 20/1.1 1.6 1.1 80 2120 | 160 151 232 | 141 102 244 | 638 231 349 331 | 663 26.5 383 36.5
EVMSG1 22/1.1 1.6 1.1 80 2120 | 160 151 232 | 141 102 244 | 680 | 24.3 | 361 343 | 705 | 27.7 | 395 377
EVMSG1 24/1.1 1.6 1.1 80 2120 | 160 151 232 | 141 102 244 | 722 253 371 353 | 747 28.7 | 405 387
EVMSG1 26/1.1 1.6 11 80 2120 | 160 151 232 | 141 102 244 | 764 26.3 38.1 36.3 | 789 29.7 | 415 397
EVMSG1 27/1.5 25 15 90 2140 | 172 140 278 | 160 119 291 - - - - | 820 | 30.1 | 479 436
EVMSG1 29/1.5 25 1.5 90 2140 | 172 140 278 | 160 119 291 - - - - 862 31.1 48.9 446
EVMSG1 32/1.5 25 1.5 90 2140 | 172 140 278 | 160 119 291 - - - - 925 324 50.2 459
EVMSG1 34/1.5 25 15 90 2140 | 172 140 278 | 160 119 291 - - - - | 967 | 333 |51.1 468
EVMSG1 37/2.2 25 2.2 90 2140 | 172 140 278 | 160 119 291 - - - - | 1030 | 347 | 542 497
EVMSG1 39/2.2 25 22 90 2140 | 172 140 278 | 160 119 291 - - - - 1072 | 357 552 50.7

1.6 MPa=16 bar ; 2.5 MPa=25 bar

- nnt availahla mndel

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMSGI1 TRYCKSTEGRINGSPUMP

SECTIONAL VIEW
EVMSG1

® @ » ., w
PP T W
AN 2 N
]
|
(/
‘\
/ ///
=
N A a4 -
VN @ N B
@ @ P ©
o o o
/
\\_///
N
)

120-3 - Wan 7
245 | 111-4
1281 JQ 7‘ ’ 120-13
135-1 S N 4 @/ 111-3
212-2 N /\ 115-5
4 111-5
111
46
&T\ 47
N o
k\\s 7
43-3 N \\\ 5-2
52-1 53
44-1 L
43.7 ZH 21
™ AN 5-1
= / 107
S = 75-1
6 = i 2731
48 @ - 212-1
120-11 ‘
117
219

with Oval flanae (N)

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMSGI1 TRYCKSTEGRINGSPUMP

PIPE CONNECTION
EVMSG1

with Round flange (F)

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMSGI1 TRYCKSTEGRINGSPUMP

SECTIONAL TABLE
EVMSG1

N° PART NAME Mé‘;ﬁg'g" DIMENSIONS STANDARD

4 Casing cover EN 1.4301 (AISI 304)

5-1 Suction casing EN 1.4301 (AISI 304)

5-2 Intermediate Casing EN 1.4301 (AISI 304)

5-3 Intermediate casing bearing EN 1.4301 (AISI 304)

5-4 Discharge casing EN 1.4301 (AISI 304)

6 Bottom casing Cast Iron EN GJL-250-EN1561

7 Outer casing EN 1.4301 (AISI 304)

21 Impeller EN 1.4301 (AISI 304)

31 Shaft EN 1.4301 (AISI 304)

32-1 Adjuster Key EN 1.4301 (AISI 304)

43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)

43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)

43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)

43-7 Spacer EN 1.4301 (AISI 304)

44-1 Shaft sleeve bearing Tungsten carbide

46 Ring (mechanical seal) EN 1.4404 (AISI 316L)

47 Ring Holder EN 1.4404 (AISI 316L)

48 Impeller nut A2-70 UNI 7323 with inox insert M8

52-1 Bearing Tungsten carbide

75 O-Ring (plug) EPDM D. 12.37x2.62 OR 3050

75-1 O-Ring (plug) EPDM

107 Liner ring EN 1.4301 (AISI 304) + PPS

1M1 Mechanical Seal SiC / Carbon / EPDM

111-3 Mechanical seal seat EN 1.4301 (AISI 304)

111-4 Seal holder EN 1.4301 (AISI 304)

111-5 Mechanical seal cartridge EN 1.4301 (AISI 304)

1151 O-Ring (outer casing) EPDM D. 129.54x5.34 OR 6510

115-4 O-Ring (cartridge sleeve) EPDM D. 11.91x2.62 OR 115

115-5 O-Ring (seal cover) EPDM D. 32.99x2.62 OR 3131

117 Flange gasket EPDM

120-1 Tie-rod Galvanized steel 6.8 strenght class ISO 898/1 M10

120-3 Screw A2-70 UNI 7323 M4x10 I1SO 4762

120-6 Screw for coupling Galvanized steel M6x25 1ISO 4762

120-11 Screw for counterflange A2-70 UNI 7323

120-13 | Screw for motor —MEC 71-80 Galvanized steel 8.8 strenght class ISO 898/1 M6x20 IS0 4017
MEC 90 M8x20 1SO 4017

128-1 Nut for tie rod Galvanized steel M10 UNI 5588

128-6 Nut for coupling Galvanized steel M6 1SO 4032

130-1 Set screw A2-70 UNI 7323 M5x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

1311 Pin for shaft Carbon Steel D. 4x32 UNI 4838

135-1 Washer Galvanized steel D. 10.5x21x2 UNI 6592

135-6 Washer Carbon Steel a6

137-1 Impeller spacer EN 1.4301 (AISI 304)

140 Coupling up to 4.0 kW Die cast Aluminium EN AB-AISI11Cu2 (Fe)

162 Motor bracket Cast iron EN-GJL-200-EN 1561

212 Plug EN 1.4301 (AISI 304) G 3/8

2121 Plug EN 1.4301 (AISI 304) G 3/8

212-2 Venting plug EN 1.4404 (AISI 316L)

219 Counter flange Galvanized steel

245 Coupling guard EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

Produktdatablad

ScandiaPUMPS

www.scandiapumps.com

© ScandiaPUMPS 2017
Med reservation for tryckfel

Kabelgatan 7
434 37 KUNGSBACKA

+46(0) 3005212 10
info@scandiapumps.com




Scandia | innovation

PUMPS | belonar

EBARA EVMSGI1 TRYCKSTEGRINGSPUMP

QUANTITY FOR MODEL

EVMSG1

N°

75 |75-1( 107 | 111 |111-3 [ 1114 | 111-5[115-1| 1154|1155

521

46 | 47|48

N°

245 | 2731

34

38

42

46

48

52
58
62
68
72

32-143-2(43-3|43-5|43-7 | 441

1
1
1
1
1
1
1
1
1
1

1

1

1]20| 1
1122

1124|1
1126| 1
1127(1
1129

1132]1
1134|1
1(37]1
1139] 1

1
1
1
1
1
1
1
1
1
1

1
1
1
1
1
1
1
1
1
1

2
2

2
2
2

2
2

10
10

13
15
17
19
21

23| 2
24
26
29
31

34
36

1

4(51|52(53|54|6(7(21(31

1
1
1
1
1

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

1
1
1

117* {120-1|120-3 | 1206 [ 120-11*[ 120-13| 128-1 | 128-6 | 130-1| 130-2| 131-1 | 135-1 [ 1356 | 137-1| 140 | 162 | 212 | 212-1 | 2122 | 219*

2
2
2
2
2
2

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSG1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSG1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

Pump Type

EVMSG1 2/0.37

EVMSG1 3/0.37

EVMSG1 4/0.37

EVMSG1 5/0.37

EVMSG1 6/0.37

EVMSG1 7/0.37

EVMSG1 8/0.37

EVMSG1 9/0.55

EVMSG1 10/0.55

EVMSG1 11/0.55

EVMSG1 12/0.55

EVMSG1 13/0.55

EVMSG1 14/0.75

EVMSG1 16/0.75

EVMSG1 18/1.1

EVMSG1 20/1.1

EVMSG1 22/1.1

EVMSG1 24/1.1

EVMSG1 26/1.1

EVMSG1 27/1.5

EVMSG1 29/1.5

EVMSG1 32/1.5

EVMSG1 34/1.5

EVMSG1 37/2.2

EVMSG1 39/2.2

* only for Oval flange (N)

£
o
<
1%}
Q
£
=}
Q
o
e
c
©
2
3
s
E

ScandiaPUMPS
Kabelgatan 7

Produktdatablad

+46(0) 30052 12 10

© ScandiaPUMPS 2017

info@scandiapumps.com

434 37 KUNGSBACKA

Med reservation for tryckfel




